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ii. 21 2,0,1,0
4

VnVn ClNHNaOH ==    

mol                OHNHNaClClNHNaOH 234 ++→+  

Αρχ.                0,1V1          0,2V2                    - 

Αντ/παρ.               -0,1V1       -0,1V1                     0,1V1                    

Τελ.                   -            0,2V2-0,1V1            0,1V1           

Από την εξίσωση Henderson προκύπτει: V1=0,2L και V2 = 0,3L. 

iii. .005,005,01,0,01,01,01,0,005,01,005,0
43

molnmolnmoln HClClNHNH =⋅==⋅==⋅=

 

mol                                     ClNHNHHCl 43 →+  

Αρχ.                                0,005      0,005          0,01 

Αντ/παρ.                              -0,005      -0,005         0,005 

Τελ.                                 -                -               0,015 

MC ClNH 1,0
4

=   

C(M)            ++
+⇔+ OHNHOHNH 3324  

Χ.Ι.           0,1-Ψ                    Ψ          Ψ 

Τελικά .15,5107log 6
=⋅−=

−pH  

iv. Vnmoln HANH 02,0,025,025,01,0
3

==⋅=  

mol                                     ANHNHHA 43 →+  

Αρχ.                                0,02V     0,025            - 

Αντ/παρ.                              -0,02V    -0,02V         0,02V 

Τελ.                                 -         0,025-0,02V   0,02V      

Τελικά  από την εξίσωση Henderson προκύπτει: V= 5/6L. 


